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QUESTION 1

In your database, archive logging and control file autobackup are enabled. 

The data files and redo log files are intact but control files are impacted due to media failure. 

In which two recovery scenarios must you use the RESETLOGS option? (Choose two.) 

A. One control file copy is intact so the spfile is changed to refer to only one copy. 

B. One control file copy is intact and damaged control file copies have to be restored to the default location. 

C. All copies of the control file are damaged and the CREATE CONTROLFILE statement is executed manually. 

D. All copies of the control file are damaged and the auto backed up control file is used for recovery. 

E. One control file copy is intact and damaged control file copies have to be restored to a non-default location. 

Correct Answer: CD 

 

QUESTION 2

Which two partitioned table maintenance operations support asynchronous Global Index Maintenance in Oracle
database 12c? (Choose two.) 

A. ALTER TABLE SPLIT PARTITION 

B. ALTER TABLE MERGE PARTITION 

C. ALTER TABLE TRUNCATE PARTITION 

D. ALTER TABLE ADD PARTITION 

E. ALTER TABLE DROP PARTITION 

F. ALTER TABLE MOVE PARTITION 

Correct Answer: CE 

Asynchronous Global Index Maintenance for DROP and TRUNCATE PARTITION This feature enables global index
maintenance to be delayed and decoupled from a DROP and TRUNCATE partition without making a global index
unusable. Enhancements include faster DROP and TRUNCATE partition operations and the ability to delay index
maintenance to off-peak time. 

 

QUESTION 3

Identify three situations in which messages are written to the alert log file. (Choose three.) 

A. Rebuilding an index using ALTER INDEX . . . REBUILD fails with an error "ORA-01578: ORACLE data block
corrupted (file # 14, block # 50)" 
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B. Creating a table returns "ORA-00955: name is already in used by an existing object" 

C. Inserting a value into a table returns "ORA-01722: invalid number" 

D. Updating a record in a table returns "ORA-00060: deadlock detected while waiting for resource" 

E. Inserting a value into a table returns "ORA-00001: unique constraint (SYS.PK_XXXX) violated" 

F. Running a query on a table returns "ORA-01578: ORACLE data block corrupted (file # 4, block # 131)" 

Correct Answer: ADF 

 

QUESTION 4

A database is stored in an Automatic Storage Management (ASM) disk group, disk group, DGROUP1 with SQL: 

There is enough free space in the disk group for mirroring to be done. 

What happens if the CONTROLLER1 failure group becomes unavailable due to error of for maintenance? 

A. Transactions and queries accessing database objects contained in any tablespace stored in DGROUP1 will fall. 

B. Mirroring of allocation units will be done to ASM disks in the CONTROLLER2 failure group until the CONTROLLER1
for failure group is brought back online. 

C. The data in the CONTROLLER1 failure group is copied to the controller2 failure group and rebalancing is initiated. 

D. ASM does not mirror any data until the controller failure group is brought back online, and newly allocated primary
allocation units (AU) are stored in the controller2 failure group, without mirroring. 

E. Transactions accessing database objects contained in any tablespace stored in DGROUP1 will fail but queries will
succeed. 

Correct Answer: D 

 

QUESTION 5

You find this query being used in your Oracle 12c database: 

Which method a used by the optimizer to limit the rows being returned? 
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A. A filter is added to the table query dynamically using ROWNUM to limit the rows to 20 percent of the total rows 

B. All the rows are returned to the client or middle tier but only the first 20 percent are returned to the screen or the
application. 

C. A view is created during execution and a filter on the view limits the rows to 20 percent of the total rows. 

D. A TOP-N query is created to limit the rows to 20 percent of the total rows 

Correct Answer: C 

 

QUESTION 6

Identify three scenarios in which you would recommend the use of SQL Performance Analyzer to analyze impact on the
performance of SQL statements. 

A. Change in the Oracle Database version 

B. Change in your network infrastructure 

C. Change in the hardware configuration of the database server 

D. Migration of database storage from non-ASM to ASM storage 

E. Database and operating system upgrade 

Correct Answer: ACE 

Oracle 11g/12c makes further use of SQL tuning sets with the SQL Performance Analyzer, which compares the
performance of the statements in a tuning set before and after a database change. The database change can be as
major or minor as you like, such as: 

* 

(E) Database, operating system, or hardware upgrades. 

* 

(A,C) Database, operating system, or hardware configuration changes. 

* 

Database initialization parameter changes. 

* 

Schema changes, such as adding indexes or materialized views. 

* 

Refreshing optimizer statistics. 

* 

Creating or changing SQL profiles. 
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QUESTION 7

On your Oracle 12c database, you Issue the following commands to create indexes 

SQL > CREATE INDEX oe.ord_customer_ix1 ON oe.orders (customers_id, sales_rep_id) INVISIBLE; 

SQL> CREATE BITMAP INDEX oe.ord_customer_ix2 ON oe.orders (customers_id, sales_rep_id); 

Which two statements are correct? (Choose two.) 

A. Both the indexes are created; however, only the ORD_COSTOMER index is visible. 

B. The optimizer evaluates index access from both the Indexes before deciding on which index to use for query
execution plan. 

C. Only the ORD_CUSTOMER_IX1 index is created. 

D. Only the ORD_CUSTOMER_IX2 index is created. 

E. Both the indexes are updated when a new row is inserted, updated, or deleted In the orders table. 

Correct Answer: AE 

11G has a new feature called Invisible Indexes. An invisible index is invisible to the optimizer as default. Using this
feature we can test a new index without effecting the execution plans of the existing sql statements or we can test the
effect of dropping an index without dropping it. 

 

QUESTION 8

Which three factors influence the optimizer\\'s choice of an execution plan? (Choose three.) 

A. the optimizer_mode initialization parameter 

B. operating system (OS) statistics 

C. cardinality estimates 

D. object statistics in the data dictionary 

E. fixed baselines 

Correct Answer: ACD 

 

 

QUESTION 9

You are administering a database that supports an OLTP workload. 

The default UNDO tablespace is a fixed size tablespace with the RETENTION NOGUARATNEE clause 
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and undo retention set to 12 minutes. 

The user SCOTT queries a large table during peak activity. 

The query runs for more than 15 minutes and then SCOTT receives the following error: 

ORA-01555: snapshot too old 

Which is possible reason for this? 

A. The Oracle server is unable to generate a read-consistent image for a block containing updates.committed after the
query began. 

B. The query is unable to place data blocks in the UNDO tablespace. 

C. The flashback data archive is not enabled for the table on which the query is issued. 

D. There is not enough space in Fast Recovery Area. 

E. The Oracle server is unable to generate a read-consistent image for a block containing uncommitted updates. 

Correct Answer: A 

 

QUESTION 10

What action must you take to ensure complete database recovery till the point of failure? 

A. Multiplex the control files 

B. Duplex the RMAN backup sets. 

C. Multiplex the online redo log files. 

D. Configure the database to run in ARCHIVELOG mode. 

Correct Answer: D 

 

QUESTION 11

You executed the following command to create a password file in the database server: 

$ orapwd file = orapworcl entries = 5 ignorecase=N 

Which statement describes the purpose of the above password file? 

A. It records usernames and passwords of users when granted the DBA role 

B. It contains usernames and passwords of users for whom auditing is enabled 

C. It is used by Oracle to authenticate users for remote database administrator 

D. It records usernames and passwords of all users when they are added to OSDBA or OSOPER operating groups 
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Correct Answer: A 

 

QUESTION 12

Your database is running in ARCHIVELOG mode. You want to take a consistent whole database backup. 

Which two statements are true in this scenario? (Choose two.) 

A. The user-managed backup consists of only formatted data blocks. 

B. The database must be shut down to take a user-managed backup. 

C. The RMAN backup contains only data files. 

D. The RMAN backup can be performed while the database is open. 

E. The database must be in MOUNT state to take RMAN backup. 

Correct Answer: AB 

 

QUESTION 13

You plan to implement the distributed database system in your company. You invoke Database 

Configuration Assistant (DBCA) to create a database on the server. During the installation, DBCA prompts 

you to specify the Global Database Name. 

What must this name be made up of? 

A. It must be made up of a database name and a domain name. 

B. It must be made up of the value in ORACLE_SID and HOSTNAME. 

C. It must be made up of the value that you plan to assign for INSTANCE_NAME and HOSTNAME. 

D. It must be made up of the value that you plan to assign for ORACLE_SID and SERVICE_NAMES. 

Correct Answer: A 

Using the DBCA to Create a Database (continued) 

3. 

Database Identification: Enter the Global Database Name in The form database_name.domain_name, and the system
identifier (SID). The SID defaults lo the database name and uniquely identifies the instance associated with the
database. 

4. 

Management Options: Use this page to set up your database so that it can be managed with Oracle Enterprise
Manager. Select the default: "Configure the Database with Enterprise Manager." Optionally, this page allows you to
configure alert notifications and daily disk backup area settings. 
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Note: Yon must configure the listener before you can configure Enterprise Manager (as shown earlier). 

 

QUESTION 14

Your database is in ARCHIVELOG mode and you want to automate the backup scheduling for your database. 

Which two tools or utilities would you use to achieve this? (Choose two.) 

A. Oracle Enterprise Manager Database Express (EM Express) 

B. Oracle Enterprise Manager Cloud Control 

C. Database Configuration Assistant (DBCA) 

D. Recovery Manager (RMAN) script invoked by using scheduler 

Correct Answer: BD 

 

QUESTION 15

Which three are activities performed by SMON? (Choose three.) 

A. cleaning up the database buffer cache and freeing resources that a client process was using 

B. applying online redo during instance recovery 

C. cleaning up temporary segments that are no longer needed 

D. performing database services registration with the default listener 

E. restarting a server or a dispatcher process that terminated abnormally 

F. recovering failed transactions that were skipped during instance recovery because of file-read or tablespace offline
errors 

Correct Answer: BCF 
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